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- I:I - 3 I:I
BT T2 | MR T8 T = BT T2 | MR8 T =%
HRX 37572 87,191 41,728 45,463
RIRET1T 4 11 5 6
RIRET2T 26 58 27 31
AIEET3T 116 390 191 199
RIRET4T 387 998 486 512
B 533 1,457 709 748
REH 2,616 6,325 2,964 3,361
L&A 4,153 9,654 4,617 5,037
5E 2,449 5,956 2,890 3,066
B AN 1,228 2,854 1,346 1,508
BERT 1,101 1,789 853 936
BER2T 741 1,448 684 764
BHERST 523 1,118 553 565
g 2,365 4,355 2,090 2,265
BARE 247 663 334 329
= 2,165 5,259 2,470 2,789
hERE 597 1,469 674 795
e 2,276 5,151 2,487 2,664
25 L ET 2,248 5,311 2,538 2,773
B &AL BT 73 164 67 97
HEFILET1T 591 1,335 630 705
HEFILET2T 596 1,374 657 717
HEZFILAT3T 573 1,370 666 704
g 1,833 4,243 2,020 2,223
B & it B Fr ET 639 1,574 772 802
BHEREBET1T 608 1,272 608 664
BHERERET2T 751 1,789 882 907
BHERERETST 773 1,717 792 925
HEFMHET4T 464 1,065 517 548
HEHFMHETST 787 1,697 813 884
HEHFHET6T 832 1,980 953 1,027
HEFRET7T 864 2,047 986 1,061
HERERETST 54 157 71 86
£t| 5133 11,724 5,622 6,102
HEF R FET 1,770 3,936 1,916 2,020
S|EFET1T 564 1,529 765 764
S|EFET2T 746 1,833 880 953
S|EFET3 T 738 1,513 723 790
g 2,048 4875 2,368 2,507
ERE1T 547 1,341 645 696
EIRET2T 316 794 391 403
EREIST 455 1,302 636 666
EIRETAT 677 1,597 756 841
EIZEIST 475 976 482 494
g 2,470 6,010 2,910 3,100
MEH 2,690 6,139 2,895 3,244
J\THET1T 28 30 8 22
J\THET2T 25 66 33 33
J\THEI3T 59 140 65 75
B 112 236 106 130
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